| dE/dx estimator 1 |

0.4

Entries 29107
Mean 2.182
Std Dev 1.902

0.35

0.3

Entries 27557
Mean 2.215
Std Dev 1.888

0.25

Entries 27390
Mean 2.489

0.2

0.15

0.1

0.05

1Q
1.1

Py
1

Ratio

0.9
0.8

=
TTTT[TTT§ 1T

Std Dev 1.791

o
[N
N
- :
ol
o

78 9 10
dE/dx, harm?2

Ratio

| dE/dx estimator 2 |

Entries 29107

e S R A Yo 2117
o - : : : : . | std Dev 1.879
(k<151 SRR SCTR RURRLE RPLE SR SRR ST o]
Entries 27557

: : : : : : Mean 2.139

0.3g fromeeeiteeesdeeeebeeeeebeeo o Std Dev 1.86

Entries 27390
Mean 2.395
Std Dev 1.765

0.25

0.2

0.15

0.1

0.05

1Q
1.1

=

T g T T T T T T T T T T T T T T T T T T T T T T T T T T T T TTTTTTTTT

0.9
0.8

e
dE/dx, trunc40

(@)

—=— DQM_TT

___mkFit-DQM_original-0

mkFit DQM original -127

................................................. ———————————————— s 29107
: Mean 3.376 0'9 Mean 0.1534
i | std Dev 4.616 & Std Dev 0.4604
SAREE AR RRAR L RARREL R AR AR Fresesees Preeeeees e ] (O J8S]  E E E EEE SRRR ]
¢ | Entries 27557 ¢ | Entries 27557
i [ Mean 3.638 070 i.| Mean 0.1659
i std Dev 4.77 ’ . | std Dev 0.4829
Entries 27390 O e A *’| Entries 27390
i | Mean 4.598 : : : : i | Mean 0.213
b . | std Dev 5.325 050 erii it Std Dev 0.5389
e L0 R R R SRR
O.15F i
: 0.3 .....................................................................
0_1; .......................................................................
‘:_- 02 ......................................................................
- 0
H
: 01_ ......................................................................
' b I I BT I I T
3 o O
L = L
3 6:5 3
k4
j LBt
L f
: : : : : : X3
A X . 1"_* ................................................................
0 10 20 30 40 50 60 70 80

dE/dx number of measurements

"10 503040 80~ 607080
dE/dx number of measurements with saturation

o



	Contents
	Page 1


